
 

 

ANTHROPOMETRY 

WEIGHT 

If a newborn is to be weighed it should be on a digital weighing machine with at least 10 gm accuracy. 

This machine should be calibrated frequently. Newborn/infant should be weighed naked 

 

LENGTH/HEIGHT 

 



 

 

 

 

 



 

 

 

 



 

 

 

 

 



 

 

 

 

MAC 

 

 

 



 

 

HEAD CIRCUMFERENCE 

 

BMI 

 

 

 

 

 

SKINFOLD THICKNESS 



 

 

 

 
 

ARM SPAN 

Span: This is measured as the distance between the tip of the middle fingeron either side when the arms are 

stretched sideways with the child facing a wall. Normally it is equal to the height with a minor difference of 1-

2 cm. In Marfan’s syndrome, homocysteinuria and primary hypogonadism, the span is more than the height 

Interpretation 
Span is 2 cm less than height in under five children.In the age group between 5 to 10 years the 
difference is less than 1cm. Span equals height at 10 years and in adults it is 2 cm more than height. 
The value is disproportionately more than height/length in conditions with short trunk- short 
stature, arachnodactyly, coarctation of aorta, eunuchoidism, homocystinuria, Klinefelter syndrome 
and Marfan syndromeJ 
 

 

 



 

 

LS/US RATIO 

When the height/length is measured, the distance from the vertex to the pubic symphysis is taken as 

the upper segment and the rest as the lower segment. Generally the lower segment and the total length are 

measured and the upper segment is calculated by subtraction. 

 
This ratio is important to interpret whether the stature is proportionate or disproportionate for the age of the 

child. Hypopituitarism produces proportionate dwarfing whereas hypothyroidism produces disproportionate 

dwarfing as infantile proportions will be retained in hypothyroidism. Skeletal dysplasias produce 

disproportionate dwarfing either short trunk or short limb dwarfism. At birth the midpoint of the body is 

umbilicus and in adults, it is pubic symphysis 

 

 


